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High Weber number
(Wein>300)
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u Wecr <	Wein u Wecr >	Wein

ü Two behavior 
divided by Wecru δnon≤1.35 u δnon>1.35

Wet wall

Low Weber number
(Wein<300)

dout = 0.5 din
Dry wall

dout = 0.5 din

δf

δin

δnon=	δf /	δin

dout = 0.6 din dout = din
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SMD= 24.03μm

SMD= 24.46μm

Pinj= 20MPa

V= 99.99m/s

V= 192.17m/s

V= 200.05m/s

50mm

Liquid film thickness, μm
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Average of 10 runs

Pinj=5MPa
tinj=3ms

Pinj=13MPa
tinj=1.93ms

10mm

gmE=�AT

• 2:�Nt1qkiyxzpX"tI�jls�

G X f O

f C;�Y<bc�_9`U+Jp.[�Y?I�����*dF@�oVH�
g #>�8��88P�
���DL�S�R|T�aM����-[�X"A�{}w^
GeO!�
	��FKI\ors#LQpDPnyxzA
h =ME| R��L*�Y<o�Ckm�6]Zp7BA4oW%E;�

QN;xW�>]��0*5:V���;z#`�"P.5
������<}!��P.5a{�
�����jN�D
����1)/S9U�Zd�"��o�
chPy�|e
�
���


